8 £ £

47 R BTE K 48 SERUHTBLE (I
‘ 4 11 & 7 : THFHRENH

WETN 4 |IRAL FEH (A) THETR 4 [WEAL ()
] 1 240 Z B 1 1,633
i g i 2 115 *fﬂﬁhﬂ% 2 640
AfEBEH 3 74 -4 % hil 3 628
B O¥ wm 4 72 AMB@AT 4 451
£ B W 5 69 X B W 5 410
KRB 6 59 [ ] 6 328
o 6 59 4 g'ﬁi 7 326
x B 8 56 & il 8 305
H K A& Hy 9 46 B R A& H 9 273
#® B oW |10 40 ET - S 10 182
& T o®wmo( 1 38 I B Ay 1 171
W oW Er | 12 23 #®W omoTh 12 168
AFPphE |13 21 ES g Hy 13 155
B R OB | M 20 b3 B 14 146
B K H | 14 20 ¥ E H 15 141
B B BT [ 16 19 A& By 16 116
& B | 16 19 X @ o 17 109
211k Bl |gEE |8 :
X W E | 20 17 -1 % Ling 20 66
B K | 21 16 = 8 & 21 61
£ & ®y 21 16 1 B o 22 60
T 55 6 | 21 16 g ig 23 51
= oo |2 15 B W N | 2 15
= 8 B | 25 14 I & Er 24 45
+ ' H |25 14 B W By | 26 37
T m O [ 27 13 w s # 27 36
N 7 mp [ 28 11 AFp B | 27 36
2 & ﬂ 28 11 T O B 29 35
B AEH 28 11 @® % Hy 30 33
¥ OB My 31 10 k- 31 25
Z@AFEg |2 10 A EE 32 24
= % B | 33 9 ok A 33 23
EEHH | 33 9 = £ iy 34 21
X N #H 35 8 + &N 35 17
s 7 HEN R 36 12
$ ¥ m | 37 6 X #% H 36 12

46w 7 6 % W ¥Ry 38 1
" M ﬁ 39 4 EEHH 39 8
R 7 8 A 40 3 REIR 40 6
g B H 40 3 2 ® ﬁ 41 5
M E F 40 3 E Aty A 41 5
[N g 43 2 g M g 43 4
H o 43 2 A # 44 3
x # N 45 1 x N H 44 3
o ] 45 1 # o8 " 46 1
78 )l A - — Biﬁ)llﬁ 46 1
n 1,264 [ ] 7,016
< ERHERT REKR s ERHF EETACER (TREE)
cWEEEA PR - WERS EREE
-RERN 4% - WERM BF

—130—



)

)

-

AR 15 A4

K

—NM

[ Y- =

50 HIREHE
GiLIESEA (A

rEXTRR
PN
i?ﬁit

BB k-

EEFER
el

¢ WEldmER

&
H=EK]

A

419
393
357
324
236

oM

oM

oronS

49 3BT
w4 e TREHEES

8 & £

EEEEE
JH

KKK

EEERE
*

#W%E&

IHKIE

1 ElR— ¢

« ERHHET  RIHBIBS SR

c IR TREE

cAERM f#F
c Rk HAHE-BAD

—131— .

CEHHEET RETRCER TREE)

- AEREAS PG
cWERM &F




100DFEEN B A B REE (55 81K)

SERE 8 F 3 HREAT
SEffi 600 9 (BlaA %)

mE ZTREEBIRMEAS
®7T ZEREHKITH 2 ‘
B 630 T RATEIERT757
B 0742—22—1101 (H2615)
EIRl  #Aee F H
B 0742—35—7222 (%)




